A solution of hydrogen
peroxide is 45.0% by
mass H202 ( Molar
mass 34.0 g/mol).and
has a density of 1.09
g/em®. The molarity of
the solution is:

Select one:

@ a.
14.4 M

@ b.
577 M

O ec.
7.05 M

@ d.
8.34 M

O e.
9.62 M






A 0.580 M solution of
CaCl, contains 1.10 g
(Molar mass 110.9
g/mol) of solute, what
?is the volume

S, aajasld

a0
mL 19.9

b O
mL 45.1

c Q
mL 38.9

d O
mL 17.1

e O
mL 54.4






The enthalpy of fusion
of aluminum is 10.7
kJ/mol (Molar
mass=27.0g/mol).
How many grams of
aluminum can be
melted by adding 77.3
kJ of energy to the
metal at its melting
point?

Select one:

.'\\___,. P a 3

3137
& - B
439g
205 g
d.
153 g
e

195 ¢






The boiling point of a
liquid is

Syl asf s

a e
The temperature at
which the vapor
pressure equals the
pressure exerted on the
liquid

o QR
The temperature at
which the liquid phase
of a substance is in
equilibrium with the
vapor phase

.C

The temperature at
which the vapor
pressure equals 760
.mmHg (1 atm)

The answer isB d
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The answer is B


What is the name for

the following phase
?change

() = 12(9)

Olylsd| s s
a @
Condensation

b @
Vaporization

c

Sublimation

d
Freezing

e

Melting

The answer is B .
Clear my_choice
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The answer is B


A liquid has an
enthalpy of
vaporization of 155
kJ/mol. At 274 K, it has
a vapor pressure of
103 mmHg. What is
the normal boiling
point of this liquid? (R
= 8.314 J/K- mol)

Select one:

Q a.
315 K

O b.
325 K

Q c
289 K

Q d.
282 K

Q e.
293 K
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The answer is D
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The answer is E
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The answer is E


The answer 1s A
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The answer is A
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The answer is B
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The answer is B









